
HW 15-6 Soln) 

A)   pା + pା → pା + pା + π଴ 
 

 p+ p+  p+ p+ π଴  
Q +1 +1  +1 +1 0 Balanced 
Le 0 0  0 0 0 Balanced 
Lμ 0 0  0 0 0 Balanced 
Lτ 0 0  0 0 0 Balanced 
B +1 +1  +1 +1 0 Balanced 
S 0 0  0 0 0 Balanced 

 
B) Λ଴ → pା + πି 

 

 Λ଴  p+ πି  
Q 0  +1 -1 Balanced 
Le 0  0 0 Balanced 
Lμ 0  0 0 Balanced 
Lτ 0  0 0 Balanced 
B +1  +1 0 Balanced 
S -1  0 0 Unbalanced 

 
C) pା + pା → n଴ + Σା + K଴ + πା 

 

 p+ p+  n0 Σ+ K0 𝜋ା  
Q +1 +1  0 +1 0 +1 Balanced 
Le 0 0  0 0 0 0 Balanced 
Lμ 0 0  0 0 0 0 Balanced 
Lτ 0 0  0 0 0 0 Balanced 
B +1 +1  +1 +1 0 0 Balanced 
S 0 0  0 -1 +1 0 Balanced 

 


